FH304 (D B Bl K SRR

B H 8 Bt 18 m TR B F | ESER |UKHTEHR]| % FE & &
aft | | #B | BT | w | s cop | TURER BURER) S [ 2H 1 an [ ax | x| ass
18 14 9 0 3 0 0 2 526 18 0 13,086 13 5 0 6
2R 0
3R 0
4A 0
5AH 0
6 A 0
7R 0
8AH 0
9A 0
10R 0
118 0
121 0
=X 14 9 0 3 0 0 2 526 18 0 13,086 13 5 0 6
HIE BEA D IR R 15 10 0 2 0 0 3 454 12 0 17,607 12 9 3 4
FRR29FE D B Bl K SKEFE KR
Ho # 8 Bt 18 m T’ B F B | BESER|UKHTEHR]| % FE & &
aft | | #B | BT | w | sz cop | TURER BURER) S [ 2B ag [ st | mx | ass
18 15 10 0 2 0 0 3 454 12 0 17,607 12 9 3 4
2R 7 5 0 1 0 0 1 662 34 0 53,809 7 3 1 5
3H 14 7 1 2 0 0 4 557 2 75 11,425 11 3 0 3
48 23 8 2 0 0 0 13 657 100 6 26,558 10 7 0 0
54 24 10 2 0 0 0 12 445 13 2 15,859 16 8 2 0
68 18 5 0 3 1 0 9 297 4 0 13,882 7 6 0 1
7H 14 6 0 4 0 0 4 507 52 0 66,174 10 8 0 2
8H 21 8 1 2 0 0 10 242 2 6 20,649 10 5 1 3
9H 10 3 0 0 0 0 7 1 177 0 240 3 2 0 4
10R 8 4 0 1 0 0 3 92 18 0 1,693 8 2 0 0
11A 13 10 0 3 0 0 0 613 52 0 10,171 18 9 2 4
12H 15 11 0 1 0 0 3 946 59 0 70,445 17 10 1 0
a&t 182 87 6 19 1 0 69 5473 525 89 308,512 129 72 10 26
BIERE DK 219 120 9 18 0 0 72 9,160 1,056 38 352,105 188 101 12 41




F 284D A BIK SR LR

B 8 Bt 18 m T’ B EE | EER|UKIETEE]| B B & &
aft | mw | #5 | 8@ | w0 |z cop | BYUREE BRREE) MAE | 2F aft | st | mx | asE
a) (FH)
18 17 10 0 2 0 0 5 1,725 17 0 41,033 20 12 0 2
28 21 17 0 1 0 0 3 1,552 187 0 53,916 30 23 3 5
3H 22 10 0 1 0 0 11 1,061 80 0 29,877 19 8 3 3
48 25 13 2 5 0 0 5 661 422 11 20,202 21 8 0 8
58 30 7 3 4 0 0 16 340 94 11 41,167 12 7 2 1
6 A 18 13 2 1 0 0 2 1,307 16 6 46,623 14 8 0 5
78 11 3 0 0 0 0 8 0 1 0 23 4 1 0 1
8 A 21 5 2 2 0 0 12 5 3 10 1,084 5 2 0 2
98 13 12 0 0 0 0 1 669 60 0 42,372 15 2 0 1
10H 18 14 0 1 0 0 3 240 126 0 12,104 17 6 1 3
11H 15 10 0 0 0 0 5 662 40 0 34,658 21 11 3 6
121 8 6 0 1 0 0 1 938 10 0 29,046 10 13 0 4
=Xl 219 120 9 18 0 0 72 9,160 1,056 38 352,105 188 101 12 41
27D BRI K SEFEAEK R
HOK # % Bt B | R B F B | BESER|UKHTEHR]| % FE & &

aft | mw | #B | BT | w | s cop | TURER BURER) ME [ BHC1 an [ st | x| ass
1A 16 12 0 2 0 0 2 1,050 8 0 25,831 16 14 0 4
2R 12 5 0 2 0 0 5 275 13 0 3,936 7 5 0 1
38 30 12 3 2 2 0 11 2,298 7 37 137,233 25 17 0 8
48 19 12 0 1 0 0 6 2,133 12 0 64,935 25 8 2 7
5H 29 8 3 1 0 0 17 398 81 18 44,437 12 6 0 1
68 13 9 0 2 0 0 2 978 74 0 23,498 24 13 3 3
78 14 10 0 1 0 0 3 253 0 12,410 11 4 0 1
8H 12 7 0 0 0 0 5 427 9 0 81,288 7 2 0 0
98 19 9 0 1 0 0 9 271 46 0 8,482 11 5 0 2
10H 17 8 1 2 0 0 6 41 8 2,411 7 6 0 1
118 13 9 1 0 0 0 3 145 7 1 7,884 9 6 2 2
121 9 7 0 1 0 0 1 136 0 5,160 7 3 0 1
a5 203 108 8 15 2 0 70 8,405 263 64 417,505 161 89 7 31




T RE264F D B Bl MK FEAEIRR

R B A m R B = @ | paen |VREsa] % B = B

aft | mw | #B | B@ | w | wE| zop | TURER BAR@mE) MAE | 2E ait | ai | == | asz

148 13 13 0 0 0 0 0 1,225 66 0 107,177 20 12 0 2
28 18 7 0 1 0 0 10 419 7 0 7,863 9 3 2 3
34 34 18 1 5 0 0 10 1,284 38 4 80,984 25 11 1 1
44 39 12 2 1 0 0 24 971 13 9 17,188 20 7 0 8
5H 27 12 2 2 0 0 11 256 128 83 10,321 12 1 0 0
6 A 14 5 0 1 0 0 8 275 10 0 4,648 7 2 0 2
78 14 4 0 2 0 0 8 29 7 0 920 4 3 0 1
8 A 9 7 0 1 0 0 1 947 6 0 45,680 8 11 0 0
94 17 4 0 3 0 0 10 272 4 0 9,627 5 6 1 2
10H 18 7 0 1 0 0 10 282 2 0 24,302 7 4 1 3
11H 14 7 0 2 0 0 5 383 12 0 4,006 12 4 1 7
12A 17 12 0 2 1 0 2 653 1,793 0 41,695 18 9 2 5
aat 234 108 5 21 1 0 99 6,996 2,086 96 354,411 147 73 8 34

T 25D B A KSR KR
R PN B = @ | paen |VnEsa] % B = B
aft | @y | 4% | Bm | mi | ne| cop [ TVRER | ENEEE) A5 o ait | a#t | == | ass
) | Fm

1A 10 9 0 0 1 0 420 0 0 6,619 9 10 0 4
28 24 15 0 2 0 0 7 1,029 81 0 43,080 26 11 0 6
38 51 18 9 1 0 0 23 989 56 138 24,044 28 10 2 7
4H 30 18 1 2 0 0 9 2,093 15 2 82,349 25 10 1 5
54 40 20 2 1 1 0 16 1,421 26 15 28,588 30 7 1 2
6 A 32 12 3 2 0 0 15 1,105 13 39 38,350 19 9 0 2
78 25 11 1 2 0 0 11 810 94 1 32,789 24 13 0 2
8 A 20 8 0 2 0 0 10 602 10 0 26,604 12 9 0 6
94 17 9 1 1 1 0 5 652 33 0 17,447 14 5 0 5
10H 17 8 0 3 0 0 6 66 48 0 12,355 8 3 1 3
11H 13 7 0 0 0 0 6 684 13 0 51,991 11 14 2 5
124 11 10 0 0 0 0 1 773 100 4 24,223 23 13 2 6
=X 290 145 17 16 3 0 109 10,644 449 199 388,439 229 114 9 53




